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Module Name Geography
Exam Date 19-Jun-2023
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1) PART A General Paper

Question No. 1/ Question ID 1955

Marks: 2.00
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2) PART B Subject Paper
Question No. 1/ Question ID 80074 Marks: 2.00
= 1 o1 gt 11 9 e siferg
Match List I with List IT
Sk 1
LISTI LISTII CESED]
(Books} { Anthox3) A E@‘e’ﬁqﬁaﬂuﬁ IR il S
A [Hundred Years of Geography 1. |G. Taylor W 5 : =
B. |Influences of Geographic Environmend Il [T'W Freeman B - ERIBINED T ﬁ}_ﬁ 1, S 1H
C. |Geography in the Twentieth Century | IIL |E.C. Semple C. UQH]LME_-TE[ 23] 'Hg-ﬂ IH; g - S
D. PMan and Nature IV. |G.P. Marsh D[ Ulg IR IV, [Sfl. g1, A2l

Choose the correct answer from the options given below: FEfeRad [aeedl & § 981 SR 31 999 SIod :

1. A-TI, B-IIL, C-L. D-IV 1. A-IL B-III. C-I. D-IV
2. A-TIL B-1LL C-IV, D-I 2. AL B-11. C-IV, D-I
3. A-I. B-IV. C-II1. D-IT 3. AL B-IV. C-IIL. D-IT
4. A-IV, B-I. C-I1, D-ITI 4. A-IV. B-1. C-II. D-III

O 1
1
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O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
4
4
Question No. 2 / Question ID 80004 Marks: 2.00
Which one of the following colours is not a part of the rainbow? HA @ ar el e
1. Violet 1. &
2. Grey L W
3. Orange 3. A
4. Red 4. ol
O 1
1
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)
Question No. 3 / Question ID 80067 Marks: 2.00
= 1 o1 gt 11 9 fieH sifere
Match List I with List IT
I II
LISTI LIST I m% afd ugq)
(Terminology) (Related Aspects) A aa-ﬁﬂﬂmﬁﬁaﬁ L [ead oF @ SaEddl
A [Biogeochemical cveleg] 1 |[Ecosvstem productivity = T a0
B |Flow of Energy 11 [Nutrient cycles i a1 Halg . P
C. |Biomass [T [Trophic Pyramid C. aaHR L. [A19® ﬁmﬁ?’g
D |[Food chain IV [Law of Thermodvnamicsy D. [RdTe] #cdl IV. | GSHT Tl T (95

Choose the correct answer from the options given below: HEfeRad [dedl © U Uel STk 31 999 Sio :

s

Ja L

1

o O O O

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

CA-TV, B-ILC-L D-III

A-IILL B-1. C-II. D-IV
AL B-IV. C-1. D-III
. A-L B-IIL C-IV, D-II

S I

CA-TV, B-I1L C-IL D-III
AL B-LL C-IL D-IV
AL B-IV, C-1. D-IIT
. A-L B-IIL. C-IV. D-II

Question No. 4 / Question ID 80051

Marks: 2.00
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Non-structural measures of flood disaster management in India include

A Flood zonation

B. Flood forecasting

C. Embankment construction
D. Channel improvement

Choose the most appropriate answer from the options given below:

1. Aand D only
2. Aand B only
3.Band C only
4. B and D only
YR § R-IRG 918 391 Aee Iumdi & RUIERE
A, FI@-SH ST
B. 91¢ &1 JaIIHH T
c. dest] o1 fHai
D. vidd I%@iﬂ‘iﬂ?

1 AU e fadedl § T Wl Sugad SR BT 99 DI

1. HITAIRD
2. PaTANRB
3, PAAB AR C
4, HIAB AR D
1

o O O O

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

Question No. 5/ Question ID 80030 Marks: 2.00

The long-term objective of the National Population Policy (2000) of India was to achieve population stabilization by the year

. 2045
. 2030
. 2075
. 2047

HRA B AP ST Hifd (2000) & Tl @iy IeRT H AT RRHI0 Bl qy dd U B T |

| R

[ SR

. 2045
. 2030
. 2075
L2047

N
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1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

pPrepp

Your Personal Exams Guide

Question No. 6 / Question ID 80080

Arrange the following according to increasing wave length.

A, Infrared
B. Ultraviolet
C. Microwave
D. Gamma

Marks: 2.00

R Pl a1 i & Jgd A I 3 |

A, TS
B. TRI&THT

C. HIgshidg

D. 7THT

Choose the eorrect answer from the options given below: EiE] ﬁ.*q Eljeg fomedl 8 ¥ el TR &1 994 ﬁﬁl‘[{:

PR
onow
W 0o
> O w0
[ oe = =

O
1

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

et
Unow
RSN
> Own
0w

o

Question No. 7 / Question ID 80077

Marks: 2.00
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Which among the following is the correct sequence of the stages through which a new boundary under most conditions is determined 7

A. Allocation

B. Delimitation
C. Maimtenance
D. Demarcation

Choose the correct answer from the options given below:

Bt
P 0O

o= T1 fte® ol § 95 S fRuiRa fr o S o s adi a8 2

=i fou e faeedl § U el 3R & 994 Bifulg:

1.D.A.B.C
2.C.B.D.A
3.A.B.D.C
4.A,C.B,D
o1

i
0O 2

2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 8 / Question ID 80060 Marks: 2.00
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Which of the following statements are NOT true about regional distribution of Muslim population in India (2011 )7

A Lakshadweep has the highest proportion of Muslim population.

B. Proportion of Muslim population in total population of West Bengal is higher than that in Assam.
C. The total population of Muslims in Kerala is higher than in Jammu and Kashmir.

D. Proportion of Muslim population in total population of Uttar Pradesh is higher than in West Bengal.
E. Punjab has the lowest proportion of Muslim population in comparizon to other states of India.

Choose the correct answer from the options given below:

A.B and C only
B. C and D only
B.D and E only
C.D and E only

FATIREd PU & 9 SF 9 SY= YRA 8 T SFEE (2011) $ &G Tmu S aR ¥ 98l 78 § 2

A & T R S 1 ST 9aiie |

B. UI4 &9 &1 Sl S-Eed] § R SH%EH] BT ST S & SU1d 4 S ¢ |
C. 3 1 Ol & od o o SR HYHR Y ST § |

D. TTR W& 1 el SR H G SR b1 9 Uis S F e |

E. YRd & 39 54| & ga-1 4. Uoe ¥ GTH S &1 970 Ja4 $H S |

Hi o U f[o@ el | Wel Ik &1 994 S |

-l el

1.FaAA. B3R C
2. $ad B, C 3R D
3. %9 B, D IRE
4.%dd C. D ARE

o O O O
AD OWOWNN 2=

Question No. 9 / Question ID 80088 Marks: 2.00
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Given below are two statements:
Statement I: The sea waves of seismie origin in general, behave like long gravitational wave.
Statement IT : The sea waves of shorter length will reach their maximum height fast, whereas a longer wave will take a long time.
In the light of the above statements, choose the most appropriate answer from the options given below:

|

e a2

19 41wy feg T &
FYA 1 TR TU 9 YU I I g arel] TG a7 1Y T il & FHH SER0 Bl ¢ |
DY 11 T TS aTeh TR a7 doil I ST ST HaE IR Ugd 9! ¢ Siafd 4Y o S Sifd §Hg i |

SR PY S el H, - 130 70 fdeeyi & U 9649 Sugad TR &1 T899 Bl

. Both Statement I and Statement II are correct

. Both Statement I and Statement I are incorrect
. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but statement II is correct

1. BYT AR 11 a1 UE @
2. FYT T AR I SHI Tad &
3. HUYT 1 Yel 6, AT PYT I TTEd &
4 PYT1TAd 8. AT HUT I TBT 8

prepp

Your Personal Exams Guide

O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4
Question No. 10 / Question ID 80070 Marks: 2.00
= 1 o1 gt 11 9 fieH sifere
Match List I with List IT
TqEt1 A I
LISTI LIST I (HIHd AT2S) (STHIN
(Weather parameter) (Instrument) A @ﬁmﬁ arad L SEPIPIET
A [Duration ofstm shine| 1. H}-‘grograph_ 5 WW il 5dul'€n!4-lnld'l
B |Atmospheric pressure] [I. [Pan Evaporimeter - - -
C. |Relative Humidity [I1. |[Campbell-stokes recordet] C. [l aﬂ—g‘v_(ﬂ I d}mfci_%d]q{-l REIER
D |[Evaporation IV [Barometer D. [T IV, [sRTHIEY
Choose the correct answer from the options given below: HEfeRad fdedl T O 9ol STk &1 999 S :
1. A-IL. B-IV, C-III, D-I 1. A-IL B-IV. C-IIL. D-I
2. A-IILL B-IV. C-IT, D-I 2. A-IIL B-IV, C-I1, D-I
3. A-IIL B-IV. C-1. D-IT 3. A-IIL B-IV. C-1. D-IT
4, A-IV. B-III, C-II, D-I 4, A-IV. B-III. C-II. D-I
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 11 / Question ID 80090 Marks: 2.00
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Given below are two statements:

Statement I : [cebergs are not common along the Norwegian coast.

Statement II: Icebergs are very common along the Siberian coast,

In the light of the above statements choose the correct answer from the optiong given below:

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true

T dIeyfRume:

BUT1 19 & Tl del & WY FrErgay At el gid € |

DY 11 - Uigalal & T ael & ary fgafRiensii &1 6 agd 61 9E= B |
SR PYUA S e H, - 3u 70 fawedi § 9 9! STR &1 959 i

T R

1. PYTI AR IS Ia &

2. BYF 1 AR 1A ST 8

3. PYT 1A o, Afe YT I T &
4. FYTIHTAE, AT FYI I TI B

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 12 / Question ID 80057 Marks: 2.00
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Who among the following were the leading advocates of quantitative revolution in Geography?

A. Semple and Ratzel

B. Mackinder and Ritter

C. Peter Hagget and William Bunge
D. Kansky and Ratzel

E. Hagerstrand and Chorley

Choose the correct answer from the options given below:

. Aand B only
. B and E only
. Cand D only
.Cand E only

= ¥ B iia § AEES $itd & SEuig e 8 2

da L Y

D. &P Ud Yeoid

E. 8TR&US U4 9iet
i feu U fdedl § U el 3R o 904 Bifolu:

1.5ad A IR B
2. $AdAB IRE
3. %dd C AR D
4, %H9d C 3IRE

1 (Chosen Option)
1 (Chosen Option)

o O O O
AR WW NN

Question No. 13 / Question ID 80003 Marks: 2.00

1 1 9 forg y7lierd i A AHadTare] e & v | faaR 3 2

Which of the following scholars argued for humanistic geography?

1. Soja Fl) %ﬁg
2. Smith =
3. Yi-Fu-Tuan 3. Tﬁ-‘f-@’*ﬂq
4. Schaefer 4.
O 1
]
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 14 / Question ID 80015 Marks: 2.00
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The most widely accepted scheme of cultural realms of the world was devised by

Broek and Webb

Spencer and Malthus
3. Haggett and Chorley
4, Tones and Gregory

foea & TRefae uivsy @t gdeard wied o & BRI g T 2|

b

1. SlU@ 3R a9
2. TR R AT
3. gilg SR A
4. 59 3R TR

1

o O O O

(Chosen Option)

]
2
2
3
3
4
4 (Chosen Option)

Question No. 15 / Question ID 80042 Marks: 2.00

Which of the following statements are NOT true about inter-state distribution of scheduled caste population in India (2011)7

A. Bihar has the largest number of scheduled caste population among all the major states of India.
B. Punjab has the highest percentage share of scheduled castes in its total population.

C. Maharashtra has the third largest population size of scheduled castes in India.

D. Tamil Nadu has more scheduled caste population than Andhra Pradegh.

Choose the most appropriate answer from the options given below:

A and B only
B and C only
C and D only
A and C only

7 Tl J B9 91 YR 8 g T & SHR-300 [Jal & aR 1§ el 781 § 2

A TR T erpgfea o1 &1 SFsien WRd & 92 9 Il & 9alive ¢ |

B. UoTd &1 $a s § SFYfd Sifadl &1 wiawd SFd1d waiiies ¢ |

e, lﬂ?ﬁﬁ&ﬂﬁlﬁﬁﬁﬁﬁﬂﬂﬂ?@ﬁ%%ﬂﬁﬁwmﬂwmal
D. THETg o SUHER 1 a1 5 g S oee 3iUE ¢ |

i fou Tt faeedl §f 3 9ad SUged Gk &1 994 ST

o L 2

1. Had A 3R B
2. PIAB AR C
3. %ad C AR D
4. FAAAANC
O

®)

WW NN ==
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O 4 (Chosen Option)
4 (Chosen Option)

Question No. 16 / Question ID 80083 Marks: 2.00

Arrange the following states of India in ascending order with respect to density of population as per 2011 Census.

A. Rajasthan

B. Odisha

C. Kerala

D. Uttar Pradesh

Choose the correct answer from the options given below:

A ISR

B. JAITS2m

C. Bd

D. SR U™

12 R e oo # 9 el SR @1 95 S

@wowe
nopw

B Lok
UwnhUo
b Slw e

K

2 (Chosen Option)
2 (Chosen Option)

3

o O O O

3
4
4

Question No. 17 / Question ID 80059 Marks: 2.00
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Which of the following statements are relevant with respect to Pearson's Product-Moment Correlation coefficient?

A. Both variables have come from the normally distributed population.
B. 1, is a non-parametric measure of the relationship.

C. It is known as the covariance of the two variables.
D. It is highly suitable to measure relationghip of attributes like 'preferences’ 'efficiency’ and 'intelligence'.

Choose the most appropriate answer from the options given below:

1. Aand B only
2. B and C only
3. Aand C only
4, C and D only

FrfarEd & 9 oF 9 SUF UiasH & 3@E Yeaay e & g ¥ iEie € 2
A. G TR TR faafed o5 9 g 91t |
B. 1, §Y P IRHFEIH AT |
C. 35U SHI 9 & YEWRRU F Y § A1 o § |
D. U8 SR, Gl SR 'giaTwr Si¥ Uil &\ & A siaftie Suga giare |

12 14U e fasedl § 9 Hadl SUE SR &1 90 HIfL:

1. Fad A IR B
2. HAAB IR C
3. PIAA AR C
4. %Had C AR D

o O O O

(Chosen Option)

]
]
2
2
3
3
4
4 (Chosen Option)

Question No. 18 / Question ID 80069 Marks: 2.00
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Match List I with List IT

LISTI LISTII
(Composition) {Plains)
A A plain largelv compesed of recent alluvium I |Outwash Plain
B. [Deep Sea plain II. [Loess Plain
C. A plain formed by wind action I11. |Flood Plain
D |A plain formed due to deposition of glacial sediments] TV |Abyasal plain

Choosge the correct answer from the options given below:

. A-III, B-IV, C-II, D-I
AL, B-IIL, C-IV, D-I
. A-L B-IV, C-II, D-111
. A-IV, B-II, C-ITI, D-1

il 1 1 i 11 9 B sifee

Tl 1 (FHe) T 11 (FE)
[t vem oeE sifteiee: Ida s sl || L [BEET i dgE]
Tex 9FR Ha | 1. [qieg 9gH
g feh a1 gRT [T HeH | 111 [aged fed
&9t el & oHe 9 591 HeH | v [fage ficH

FrefaRad fawed O 9 98l SR &1 9g S

R ]

olo|w|s

A-IIIL, B-IV. C-1I, D-I
AL B-IIL C-IV. D-I
 A-T B-IV, C-I1, D-ITI
A-IV. B-IL. C-III. D-I
1 (Chosen Option)
1 (Chosen Option)

ko =

O 0o o o¥

AP WOWNN

Question No. 19 / Question ID 80041 Marks: 2.00

1] I B F1C B VAT BT YR giar g

A. HeLHE (g 1)

B. Eﬂ?ia-‘z (sample) P HTH

The Standard error of mean is calculated on the basis of

A. Grand Mean

B. Size of the sample

C. Sample standard deviation

D. Sampling distribution of mean
E. Population mean

Choose the correct answer from the options given below:

. D and E only
. B and C only
.Aand D only
.B and E only

O 1 (Chosen Option)
1 (Chosen Option)

O 2
2

B

c. ufaes o1 o9 fagaa
D. 71¢4 Bid=yA f[darur
E. SFEET 910

e fou U fasedl T ¥ Tl 3R &1 90+ Biforg:

1. $9d D AR E
2. %aaB AR C
3. $ad A AR D
4 %aaB ARE
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O 3
3
4
4
Question No. 20 / Question ID 80078 Marks: 2.00
o , fAEAfeRad &1 T ®laspd 1§ 34 |
Arrange the following in chronological order.
. A. PIH-H 3P UIETH (CoP-21
A. Conference of Parties (CoP-21) e )
: B. Gl g
B. Earth Summit £
C. World Summit on Sustainable Development C. Hjm fawTg 1:|'\: LRl
D. Montreal Protocol B4 éﬁlElEl ieidie
Choose the correct answer from the options given below: EIE] ﬁrq m eI Hgf 3R &1 944 Bl u:
1.B.D.C.A 1.B.D.C.A
2.D.B.A.C 2D.BAC
3D.B.C.A 3BLBEA
4.B.C.D.A 4.B.C,D,A
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
Question No. 21 / Question ID 80040 Marks: 2.00
o R 3Hfar RA-gn o gfed gaman?
When did the last Ice Age on earth take place? 1 L T g
; : 1. W B
1. Pliocene period e
2. Miocene period = d
3. Pleistocene period 3. WRERHHA Ted
4. Silurian period 4, WW
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 22 / Question ID 80006 Marks: 2.00
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In which of the following countries of the world. the farming is severely restricted by climate 7

. Mexico
. Spain
. Canada
. China

f4g & Feifhd 421 & € iy 3w & iy, Saarg @Rl § 4R =0 3 e

| R

L

1. Ofda®!
2.9
3, TSl
4.9

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 23 / Question ID 80039 Marks: 2.00

Kumjawng pass is located in ; FHE ﬁ— s1af EHE[% I

1, Sibdein 1. fafeen

2. Arunachal Pradesh 2. U Uel
3. Tripura 3, a'ERT

4. Meghalaya 4. OH[dg

1
1

(Chosen Option)
(Chosen Option)

O O O O

A DA WWDNN

Question No. 24 / Question ID 80043 Marks: 2.00

UiYe Wk & Sdled| 8 e § :

Producers in the trophic level include: ;
A, U1 Rl g dlg
A Photosynthetic green plants B. U1 GRANT GﬂaTE\'l

B. Photosynthetic bacteria C. IO IgoH] Gﬁa‘ﬂjl
C. Chemosynthetic bacteria D. He®

D. Frogs

4 feu e fowedt | T Wl Sugad SR &1 99 DI

Choose the most appropriate answer from the options given below:

1. A. B and D only 1. $aT A B3R D
2. B and D only 2. Had B 3R D

3. A.B and C only 3. HaA A BIAHRC
4.B. C and D only 4. %a@B.C3RD

O 1
1
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(Chosen Option)
(Chosen Option)

2
2
3
3
4
4

Question No. 25 / Question ID 80062 Marks: 2.00

Which of the following statements are correct 7

A. The gap between rural and urban quality of life is not much wide in India.
B. About 70 per cent of the population lives in villages in India.

C. Indian rural society is still semi-feudalistic.

D. Proportion of rural population is highest among states in Bihar.

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3. Cand D only
4. A and D only

fFTaiEd ¥ 9 SH-9 SYT 91 § 2

A, YRa H grftor 3R 3t offeq @1 quraw & &g sfa) it fasga el 8 |
B. YR H TTHT 70 HIRd S-Ge Tidl B Igdl § |

C. YRerg TrEor TS ordf off srelardd B |

D. I! T R © P S T AT SERe] &7 3UTd 9aiiis ¢ |

i 140 77U fawr eyl § HEl 3Tk &1 99 HIT |

1. $ad A 3R B

2. HaAB AR C

3. %ad C 3R D

4, HATAARD

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 26 / Question ID 80055 Marks: 2.00
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As per the Census 2011, which of the following recorded second and first rank in population growth during 2001-20117

A, Arunachal Pradesh
B. Meghalaya
C. Mizoram

D. Jammu and Kashmir
E. Bihar

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4, D and E only

2011 B THIUFT & SHER 2001-2011 & &R S9@ gis & AEfiEa 3 &7 1 gt ok vy ¥ a1 foan 2

=i feu U fdedl § U el 3R & 904 Bifelu:

1.%ad A AN B
2. HAAB AR C
3. %dd C AR D
4, $9dD R E

(Chosen Option)
(Chosen Option)

o O O O

AR WWNN =2

Question No. 27 / Question ID 80008 Marks: 2.00

Who wrote the essay entitled 'Trying to Solve the Monsoon Riddle' in relation to mechanism of moensoon?

. Rama Sastry

. Menon

. Krishna

. Parthasartahy

fg-1 2127 € Hied B Rea e Hay 5=y uftbar & &y J forar »

e

1. XTHT SRt
2 HAH

3. P9

4. qrTgRet
O

1
1
O 2
2
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O 3
3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 28 / Question ID 80066 Marks: 2.00
= 1 o1 gl 11 9 fieH Sifere
Match List T with List IT
Tt 1 I
LISTI LISTII ad FEErTRm Ry | (e gt 531 s uRn)
('::argl Di-cl:ean Cl:rrent (_‘\Ilee&ng ]?Jld ocean current) A EoE 9T 1 [Tt amT
. |Brazil curren . |Ovashio current a7 HTHaTe

B. |Gulf stream II. [Falkland current B = i HRT

C. [Kuroshio current | II1 |Labrador current C. |FIRAT &1 1L [TSTSTY 4RI

D |Agulhas current IV, |West wind drift D. [Hiee I &I IV, [HfE o ﬁf_ﬂ'q

Choose the correct answer from the options given below: HEfeRad [dedl & U ¥el SR 31 999 Siod :

1. AL B-IL, C-IIL, D-IV 1. AL B-IL C-IIL, DIV

2. A-III, B-IV, C-I, D-II 2. A-IIL B-IV, C-1, D-II

3. A-IV, B-III, C-II, D-I 3. A-IV, B-III, C-II D-I

4, A-IL, B-IIL, C-L. DIV 4. A-IL B-IL C-I, DIV
O 1
1

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 29 / Question ID 80005 Marks: 2.00

The idea/concept of 'spatial margins of profitability' in context of industrial location theories was propounded by

. ALosch
. Pred
3. D.M. Smith
4, Walter Isard
Senfie sefiufa freial & ded | evveda & e Suid SR emurRm & — & gy ufquifad fear mar o |

| R

1.9 @9

2. U8

3. 5100, Ay
4. GTweR 35S

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 30 / Question ID 80053 Marks: 2.00
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Which of the following are true for India's National Health Policy. 20177

A Increase of life expectancy at birth to 70 years by 2025,

B. Increase of health expenditure by Government to 5.0 per cent of GDP by 2025.

C. Reduction in infant mortality rate to 28 by 2019,

D. Reduction of Maternal Mortality rate to 200 by 2020,

E. Reduction of total fertility rate (TFR) to 2.1 at national and sub-national level by 2025,

Choose the correct answer from the options given below:

.A.B and C only
.B. C and D only
.C.D and E only
A, CandE only

YR B AP WA Afd-2017 S IR FAREa I S A F981 8 2

A 57 & 90T SfigT U B 2025 9F 70 TS a9 S|

B. TRPR RT WA T &f 2025 T Sitedl & 5 Ufaed 9@ ST |

C. %] OegER B1 2010 T 28 T G |

D. ATq Jgax i 2020 7% HETHR 200 TR T |

E. D¢ Yo 3% Pl 2025 T AP TR 3R JURPIY TR W 2.1 7D B B3] |

i feu U fdedl § U el 3R o 904 Bifolu:

s L

1.FaAA. B3R C
2. $ad B, C 3R D
3. %dd C,DIRE
4. HATA. C IRE

o O O O
AR WWNN 2=

Question No. 31 / Question ID 80033 Marks: 2.00

Which one of the following models is based on the study of human ecology?

. Concentric zone model by Burgess

. Innovation Diffusion model by Hagestrand
. Mobility Transition model by Zelinsky

. Location model by Weber

ffofaa & T oF 91 v Alsa Ae TRfae! & g ) anemia g 2

| R

o T

1. 119 &1 Yda1g gag Hisd
2. FRE S 1 3109 fSuge oisa
3. Sci! @ Hifaferd! ciforeH Aisa
4. 981 BT e HISd
O 1

1
O 2

2
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O 3
3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 32 / Question ID 80011 Marks: 2.00

Organisms with 't-selected’ growth patterns tend to occupy which tropic level in their ecosystems?

. Low trophic level

. High trophic level

. Middle trophic level

. Very high trophic level

T i TR ar St & or TR di & it 1 ey o T o o8t gy Sl 2 2

=

PENR]

1. = O R

2. 3 UING &R

3. BOH UIYP TR

4. 9gd 3= Ui &R

O 1
]

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 33 / Question ID 80072 Marks: 2.00
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Match List I with List IT

LISTI LISTII
(Author) (Book Title)
A [P Knox and 5. Pinch I |The Cultural Landscape: An Introduction to Human Geography]
B. [Emrys Jones and John Evleq| I |Social Geography
C. JA Ahmad ITI. [Urban Social Geography: An Introduction
D. J M. Rubenstein IV, |An Introduction to Social Geography

Choosge the correct answer from the options given below:

.A-L B-II. C-IIL D-IV
A-IIL B-II1, C-IV, D-1
CAALL B-IV, C-11. D-1
CA-TV, B-III. C-1. D-IT

el 1 1 =i 11 9 A sifoe
I 1 () = 1 (g )

Ul A9 3R U4 fig 1 [& oeava oewh0 - U s eH ¢ BUEE W
T I 3R Sl ] 1L [GiRIe sl

T EAG 111 [3{&- G SaiTE| : U4 g ls o

S UH. Se=HciH IV [U4 3lSa-H ¢ FI=Id sUiITo!

FrefaRad fawed O 9 98l SR &1 9g S

il

ofafw]s

A-IL B-II. C-II1, D-IV
CA-IL B-IILL C-IV. D-I
CA-IL B-TV, C-I1. D-I
A-IV. B-III. C-1. D-II
1 (Chosen Option)
1 (Chosen Option)

ko =

o o

o O O O
AR WWW NN

Question No. 34 / Question ID 80009 Marks: 2.00

Who wrote the bool Tlustration of the Huttonian Theory of the Earth' ?

. James Hutton

. Bowman

. Vidal de 1a Blache
. John Playfair

SRS 1 & B 2N 3% g 3 e qwe e fordl 2

o=

o Laa

.S geT
2. &
3. fas1a St ol s
4, A @R
O 1
]

O 2
2
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O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 35 / Question ID 80061 Marks: 2.00

SfoRaH! fafaferal grT AT y-srepfaai :

A ORS iR &Y

Landforms formed by erosional activities:

A, Yardang and Stumps B. ¥% IR RGH
B. Cirque and Barchan C. 3T AR TR
C. Arete and Esker D. gra-fog sk Oiw fesr

D. Blow Hole and Seif dune

E. Structural bench and Col E. SReFIAS 9iUH 3R DI

Choose the correct answer from the options given below: #Ti fed 7Y facpedl H Jel SR &1 907 B |
1. Aand E only 1. PAUARE
2. B and C only 2. FaaAB AR C
3.C and D only 3.%ad C 3R D
4. A and C only 4. FTAAIARC
O 1
]
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
Question No. 36 / Question ID 80021 Marks: 2.00

TSI aaiaT Yeg FEleREd § 9 foay 9alia g 2

The term 'Demanufacturing’ is associated with which one of the following?

1. 3R AR

1. Post globalization e
2. Financial deficit 2. : HIC .
3. Disaggembly and recyeling 3. T BT 3R REEEL
4, Small scale industry decline 4. 7Y 3T Udd
O 1

1

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 37 / Question ID 80026 Marks: 2.00

FHEfeRad 5 9 [0 TP & DRI 3TH1R1 &7 1 e g1 § 2
Which one of the following is regpongible for the blue colour of the gky ? o gl

. Rayleigh Scattering i ?ﬁﬂfﬁ[ﬁl

. Mie scattering

. Nonselective scattering 3. ﬁ'{_w uﬁ”ﬁ
. Ground radiance 4, PRITEM Ug I

e L =
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(Chosen Option)
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Question No. 38 / Question ID 80073

Match List T with List IT
LISTI LISTII
(States) (Change in effective Literary Rate, 2001-2011)
A [Kerala I |i68
B. Mizoram IL |146
C. [Himachal Pradesh] III. |3.8
D [Bihar [v o

1. A-L B-II, C-IV, D-III
2. A-IL B-I, C-IIL. D-IV
3. A-IV, B-III, C-II. D-1
4, AL B-II, C-L D-IV
O 1
1
O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Choose the correct answer from the options given below:

il 1 1 g4l 11 9 fHeH Sifee

Marks: 2.00

A
(TST)

Tt 11

(THTE! FI&RAT oX | Uiad, 2001-2011)

- feid I |i6.8

BERE 1L 146

[oHT=a sl I [3.8

olo|w]>

IEGIH . .o

Fafaiad faeedl & O 98l IR &1 999 Fifau -

A-L B-IL C-IV. D-III
A-IL B-1. C-III. D-IV
A-TV, B-I1, C-1I, D-1
A-

L.
2,
3
4. A-TIL B-1L. C-1. D-IV

Question No. 39 / Question ID 80023

1. Ritter

2. Humboldt
3. Ratzel

4. Richthofen

Identify the scholar who was the first to report and map the Chinesge coal fields.

39 fagm ot uggm Fifon fora gduys 99 & Sl 891 & TFERT a1 3R A=E 9911 |

1. Rex
2. gl
3. ¥euld
4. 2w
o1

]

(Chosen Option)
(Chosen Option)

o O O

2
2
3
3
4
4

Marks: 2.00

Question No. 40 / Question ID 80020

Marks: 2.00
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The migrants of second wave of Indian Diaspora went to settle in which of the following country?

1. Mauritius
2. Fiji

3., Thailand
4, Canada

YR YR diaspora) B ¢8-I a1 & ol = @ b e d g e 4 2

(Chosen Option)
(Chosen Option)

O O O O
AR WW NN 2=

Question No. 41 / Question ID 80010 Marks: 2.00

Which one of the following was introduced by W. Arnold?

. Spatial processes of plant ecology in settlement dispersion study

. Monte Carlo technique to the evolution of settlement

. Utopian social and political thinking affect on gettlement network
. Place name analysis in the settlement study

FAefeRad 9 ooy us o1 uidure Sy 3RAles gRI fooar 7ar 2

| R

e

1. e g & 2egae T urey Uit & -ifHe wed
2. HiYa & wia® AP d J1< SRl [9f¢

3. a3 TR G2 IUa- Sl SR AeHias YR & 94
4, UM e H R A1 [deeyu

O 2
2
QO 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 42 / Question ID 80087 Marks: 2.00
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Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A) 1 Christaller developed network of hexagonal complementary areas in central place theory.
Reason (R) : The circular complementary areas were having gaps and overlaps.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4, A is false but R 1s true.

19 &1 Py 3T U &: U B YUH (Assertion A) P =Y T {744 8 Tl G¥RT IHD BRUI (Reason R) & 37 H:
YT A : Fig W g o fhwerer 3 yeiysig ¥R® &7 Rid U |

PIRUIR : TSDR YRS &1 7 Siawrd R ffagm o |

SR DU S el H, - 13U 70 faeedi # 9 949 S0gad TR &1 997 Bl |

ARREHI AT SRR AT TS TR §
AR REA THE, AR, A DI TSI AT T8 &
AT e TR 3T ®
AITIE A PIRITE

[AEe,

L

o O O O
AR WOWNN 2

Question No. 43 / Question ID 80044 Marks: 2.00

Which of the following statements are true about crop-combination regions 7

A. Provides a good basis for agricultural regionalization.
B. Helps in studying agricultural productivity.
C. Helps in formulation of agricultural policy.

D. Provides a comprehensive understanding of agricultural mosaic of an agro-climatic region for planning and development of
agriculture,

Choose the most appropriate answer from the options given below:

. Aand B only

LA, Cand D only
.B.Cand D only
4. A, B and C only

BOd-Taie Ue¥ & R H FEfaRea § S o 3 oy= ugl €2

A T8 BTN UIERIHRUI & U 33T S1UR WaH SIdl ¢ |

B. BIY ITGH BT 1200 B3 H Tl Il g |

C. SN I TR &= § Sead dxar ¢ |

D. $IY &1 AeH1 3R fder & o 63 Si-Saarmd! 87 & $iY u=eR! (Heg®) B ue 993 UaH B3l ¢ |

9 fou Tt faoedl § 3 9ol Suged GO &1 999 SI:

o I =

1. Fad A AN B

2. PdT A, C 3RD
3. %da B, C 3R D
4 FATA B3R C
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(Chosen Option)
(Chosen Option)

o O O O
AD OWOWNN 2=

Question No. 44 / Question ID 80054 Marks: 2.00

Which of the following statements with respect to altitude of the sun and spacing of tall buildings is most relevant?

A. Buildings are usually built far apart in high latitudes,

B. Buildings are usually built closer together in tropics.

C. Buildings are usually built cloger together i high latitudes.
D. Buildings are usually built far apart in tropics.

Choose the correct answer from the options given below.

. Aand D only
. B and C only
. Cand D only
. Aand B only

FfaiEd @ o 3 oy 3 &1 gl 3R Sl gARdl & di= ATl oie a4 @ [0y Jaiiee Ui g 7

A, T & O SHR JIHA: g3-g2 &1 gl o

B. 3UGicaY &3 H SR IHRIG: UH-GHR & olai® a1 sldl o
C. T ST IR AR AHId: UH-gHR & Tog @ & gidl o
D. 31 Hfedy 831 § SURA 9O g-g & gl o

4 fqu e fadedt & T Wl Sugad SR &1 99 DI

LI

E=S

1.FaAAARD
2. HAAB AR C
3. %dd C IR D
4, Hdd A 3R B

O 1
1

O 2
2

QO 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 45 / Question ID 80065 Marks: 2.00
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Who among the following scholars strongly advocated the idea of possibilism?

A. Ratzel and Ritter

B. Brunhes and Sauer

C. Febvre and Blache

D. Sauer and Huntington
E. Semple and Ratzel

Choose the correct answer from the options given below:

. Aand B only
. B and C only
. Cand D only
.Cand E only

1 & 3 o5 fagl = anyaars &1 [GaRyRT &1 g § 5o fiar 2

A. Yo 3R fex
B. 59 iR WA

C. Al A s
D. TTaR 3R gfemeq

E. 9Id SR Yeuld
Hid U T fawedl § O Ugl 3ok & 994 B

L O

1.%ad A AN B
2. HAAB AR C
3. %dd C AR D
4, %H9d C 3IRE
o1

]

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 46 / Question ID 80046 Marks: 2.00

fFeTaiEd o o1 d wiiiedl Hfd=a de-ie 181 § 2

Which of the following are NOT probability sampling techniques?

A, YR AEf=58
A. Simple Random B. Q?Iﬁqv_d
B. Stratified C. HE
iy D o e
E. Convenience B ﬁﬁ

=i feu U fdedl 5 U el 3L & 904 BIfor:

Choose the correct answer from the options given below:

1. Aand E only 1. 390 A 3R E
2. C and E only 2. a9 C 3R E
3.Band D only 3. %A@ B AR D
4. B and C only 4. BB ARC
O 1

]

O 2 (Chosen Option)
2 (Chosen Option)
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Question No. 47 / Question ID 80050 Marks: 2.00

The characteristics of ocean water include:

A The distribution of ocean currents is not affected by the distribution of density of the oceanic water.

B. Heat lost by the tropical oceans is the major source of heat needed to drive the atmospheric circulation.
C. Most of the heat absorbed by the oceans in tropics is released as water vapour in polar areas.

D. Less salty waters are at high latitudes.

Choose the correct answer from the options given below:

1. Aand B only
2. B and D only
3. Cand D only
4. A and C only

TEMrPRIE o ot [agwarst § gfifa g -

A TIEIRIT YR1 &1 fAaR0 TeFRIY o/d & U7 & [aaRul §R1 H{Iad T8 sl § |

B. 39 Hicae HRIFRI GRT &I 1 &ifd arHstd URE=R0 & =T o (o0 31awad & & WRE did § |
C. IUpiedy I HETHIRI R A e S ydi a3 1 Seary & 39 3 Fed $1 9 ¢ |

D. 3 & O el & qaural B4 sidl ¢ |

= feu U fasedl 9 ¥ el 3T’ &1 904 SIfult:

1. $ad A 3R B
2. PAAB AR D
3, %ad C AR D
4. HATAIRC
1

o O O O

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

Question No. 48 / Question ID 80075 Marks: 2.00
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el 1 1 94l 11 9 foer Sifoe

Match List I with List IT

I 1I
LISTI LIST II (Asre 3899 & a@) @mﬁgﬂﬁm
(Elements of Visual Image (Fe?at.ure :l[dentlﬁcahun} A 7T (?L?FD I Hﬁg[ IUATT o S Bl AT D]
g_ ';:me L |to dlsrmfgmsh zones of land use B o IL o2 G}ﬁ? giﬁ:[ T
- |Bize I1. Jland cover and land use
C. |Shape 111 |orchards C g LI el
D. |Pattern IV, |meander belts D. [Hidey (aa_'ﬁ V. ﬁﬂﬂcﬂ?ﬁ

Choose the correct answer from the options given below: “afaiad fadeul © I et 3ax &1 =99 BT -

. A-TV, B-1. C-I1. D-III
A-T, B-IV. C-III, D-II
AL B-IL C-L D-IV
. A-TL, B-1., C-IV, D-I1I
1 (Chosen Option)
(Chosen Option)

CA-TV, B-1. C-11. D-III
LA B-IV, C-IIIL. D-II
. A-IIL B-IL. C-L. D-IV
A-IL B-1. C-IV. D-III

LT ]
S g

o O O O

]
2
2
3
3
4
4

Question No. 49 / Question ID 80089 Marks: 2.00

Given below are two statements:

Statement I: Highest concentration of scheduled caste population is in the Satluj-Ganga plains of India.
Statement IT : In terms of absolute number Christians are most numerous in Kerala state of India.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statemient I and Statement IT are true

. Both Statement I and Statement II are false

. Statement I is true but Statement II is false

. Statement I is false but Statement IT is true

BRG] g

FUT T : S A1 B FoaaH GP-501 YRA & Faqol-11 & HgHI 9 ¢ |
P 11 - FRUg Tvem & dey O SRl B Jaiide e YR & pRaIsa 4§ |
IRIFI BY S RIS 1, - 30 70 [deedl ¥ 9 981 SR &1 9571 HIIT:

Jo=

S ]

FYATRIIA T ®
HYTI AR IS T B

HYF 1 I 5, A FUA 1 3T ©
YT TS, AT T I I

1 (Chosen Option)
1 (Chosen Option)

O O O oL=wmm

AN W NN

Question No. 50 / Question ID 80068 Marks: 2.00
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Match List T with List IT el 191 94l 11 § i $ifere
LISTI LISTII = 1 (ST BT ISR 10 (RIT)

(Tvpe of Industry) (Place) A e L [poq

A |Tute I [Kullu 2 -
- - B [34 1. [FER

B |Wool I Mysore

C |5ilk T [Hisar C. [=H 1. [[eHR

D [Cotton IV |Ongole D. E\?ﬁm IV. I

Choose the correct answer from the options given below: FHfRad [dPedl © 4 Uel STk &1 909 1o :

. A-IIL, B-IV, C-I D-I1I
A-IV. B-I, C-II, D-III

A-IL B-IV. C-1. D-IT1
CA-IV, B-LL C-I1. D-IIIT

faien
L R

3. A-IV. B-IL C-I1. D-I CA-TV, B-II0, C-I1, D-I
4, A-IV. B-1, C-11I, D-II ATV, B-1. C-IIL D-II
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
Question No. 51 / Question ID 80048 Marks: 2.00
IR o P fobaraae nuikd 3 1
The functioning of ecosystem depends on
A. Sl yaTg
A. Energy flow B. Ul I
B. Nutrient cycles C. éawﬁfﬁ B
C. Biogeochemical cycles D. ORI 9l

D. Tidal energy

19 fau 7Tt faedi | € 9a8 Sugad 9ok &1 99 SIS

Choose the most appropriate answer from the options given below:

1. A and D only 1. Had A 3R D
2. B and D only 2. Had B Gﬁ?D
3.A Band D only 3. Bad A. B3R D
4.A.Band C only 4. FaAABIARC
O 2

2

O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 52 / Question ID 80047 Marks: 2.00
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Which of the following statements are correct regarding welfare geography?

A Tt was revolutionary in theory and reveolutionary in practice.

B. The basis of welfare approach is on "who gets what. where and how."
C. It was based on positivism.

D. Tt is a pragmatic approach to overcome the prablems of inequalities.

Choose the most appropriate answer from the options given below:

1. Aand B only
2. B and C only
3. B and D only
4. Cand D only

fFefifad & § semei i S ded § e S s W

A U8 Mg O wifdeR] gur i J eildeRy i

B. TIUIGR] €S0 'S T, Tl AR P U Bl 8 W A1Ra g1
C. T Y& UR 3remid 2

D. U8 UM & FHI 31 & [0l U6 TaioH-Ids SUNTH &

1 AU e fadedl § T Wl Sugad SR BT 99 DI

1.%Had A IV B
2. HaAB 3R C
3. %dd B IR D
4, Had C 3IRD
1

o O O O

(Chosen Option)

]
2
2
3
3
4
4 (Chosen Option)

Question No. 53 / Question ID 80014 Marks: 2.00

fefefad 39 o5 91t di9dvs & Ree safua e 2

Which one of the following is located near Greenland?

1. Telegraph Plateau L. CUAT 48R
2. Walvis ridge 2. d1fead Fed
3. Puerto Rico deep 3. Uﬂfﬂiﬂﬁ T
4, Challenger rise 4, TEloR B
O 1
]
O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 54 / Question ID 80049 Marks: 2.00
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Which statements are true about the benefits of World Trade Organization (WTQ)?

A. Trade disputes between and among countries are handled constructively.

B. Liberalized global trade provides greater choice of products and their qualities.
C. Rules malke life difficult for all.

D. The liberalized trade cuts the cost of living.

E. This system promotes conflicts.

Choose the correct answer from the options given below:

.A.Band D only
.A.BandE only
.C.D and E only
.B. C and D only

fa=a SIR 13 (Seegeial) & Al & aR & &1 4 U sl 57

A 211 S Sl & o9 oauR faaTa] &1 Ta-eT ofl § SHIYT a1 Sl ¢ |

B. SaRIFd df¥ae R SdI&! S 395! e & foy 3ifie fdeed UeH Sdi e |
C. [ 9a%T Silad gRead PR &d & |

D. IERIPd HMUR I63-Hed &I arld & &8l Sl ¢ |

E. Ug o4 fdare] &1 sgrar aar |
i feu U fdedl § U el 3R o 904 Bifolu:

s L

1.FAAA. BIARD
2. $ad A, B3R E
3. %dd C,DIRE
4.%dd B, C 3R D

o1
]

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 55 / Question ID 80016 Marks: 2.00

Which one of the following nomadic tribes lives in northern Finland?

. Yulcaghir
. Lapps
Warlpiri
. Kirghiz

faefafea 8§ ¥ oF-d v g oenfa Soft frers H e e 2

| SR

o T
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O 3
3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 56 / Question ID 80024 Marks: 2.00

Aurora Australis pertaining to ionosphere are related to which hemisphere/region?

1. Northern Hemisphere
2. Greenland

3. Southern Hemisphere
4, Canada

3o Hed U el ydia St (SRR i) fod Tere we 4 Jaitd ¢ 2

2 (Chosen Option)
2 (Chosen Option)

o}
O
O 3
@)

3
4
4

Question No. 57 / Question ID 80058 Marks: 2.00
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The status of salinity in Indian Ocean (in northern summer) is given below. Identify the correct statements,

A. The salinity in the Indian Ocean increases from equator to the Bay of Bengal.

B. The salinity in the Indian Ocean decreases from equator towards the Bay of Bengal.
C. The salinity in the Indian Ocean remains same in different parts.

D. The 45 */= isohaline the divide the Indian Ocean into eastern and western section.
E. Salinity is more in the Arabian Sea than the Bay of Bengal.

Choose the correct answer from the options given below:

.Band E only
. Aand B only
. C and E only
4. D and E only

e HEMIR (Fast e & agvm &1 Rufy 1= & 12 81 98 syl 31 ug=E St

A [aygd @1 ¥ §d &1 Wrsl 31 3R =5 GePR § aauidl 9gal ol g |
B. [a9ad 3@ € 9719 &1 @Is] @1 3N (65 HeFR ¥ qaurar 9ed] s ¢ |
c. fe< HeITR & 3{e-3ra fesd! & aaudr H- Edl 6 |

D. 45 - FHTEU ¥4 fe=< HETErR %1 gdf #fiR ufyd @S d faurfoa o= 8 |
E. §76 &1 Wie! ¥ 3Re IR § daurdr A& © |

= feu U fasedl § U el 3T’ &1 904 Bifol:

b =

1. $aa B 3ARE
2. P A IR B
3. %dd C 3IRE
4. PAAD AR E

O 1
]

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 58 / Question ID 80056 Marks: 2.00
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Read the given statements about Tide producing forces carefully and identify the correct statements .

A The attraction of the moon is maximum at the point which is closest to the moon on the earth's surface.
B. Distance is very important variable,

C. The attraction of the moon is minimum at the point which is clogest to the moon on the earth's surface.
D. The tide-generating forces are very large in magnitude compared to the gravitational forces.

Choose the correct answer from the options given below:

1. Aand B only
2.B and C only
3. Cand D only
4. A and D only

SIRIGED sall & aR H (3T U Sl 31 -9d® U¢ iR 981 SUHl &1 UgarH o |

A TEH B 1YY 90§l & oRIad R 39 (95 UR Siead gial & ol 9501 & 9aiied Hde g |

B. 531 954 81 HE@yUl =R € |
C. IS 1 oYY 90 ] & URIdd R 39 95 U= A Sidl & ol I<H1 & Faiive Hae g |

D. TH@B YU G &1 go-l H SaR-3dI5® aa] P IRHI dgd 9% ¢ |
i feu U fdedl § U el 3Tk & 904 Bifef:

1.%Had A IV B
2. HaAB 3R C
3. %dd C IR D
4, HAT A RD

(Chosen Option)
(Chosen Option)

o O O O
AR WWNN 2=

Question No. 59 / Question ID 80002 Marks: 2.00

Cultural Eutrophication is caused by which of the following ?

. Sediments brought by a tributory stream

. Nutrients brought by a tributory stream

. Nutrients added into the water bodies by anthropogenic factors
. Due to abundance of Plankton organisms

Hiepiae U FERREd § 9 B S gRIgiale 2

| R

o L

1. U HeI% SaYRI RT €Y 7Y SGHE] & HRUI

2. T% He® FaYRI GRT T 7Y 99 dal & BRI

3. GGuHd BR®| gRI Ja=| H oH] {60 UiN® dal & BRI
4, RIG% Sildl P WERAl & DRI

O 1 (Chosen Option)
1 (Chosen Option)

O 2
2

O 3
3
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Question No. 60 / Question ID 80071

Match List T with List 1T

LISTI LISTII
(Sectors of Economy)| (Name of activity)

. |Primary [ |Singing

. |Secondary II. |Postal services

Tertiary II1. Brick-making

glo|w|=

. [Quartemnary IV [Pearl culture

=i 1 91 gl 11 9 e sifere

11 (FaTH g &1 A1H)

R 1 (SSTawIT & &t
A [UUfE® L

HIEE!

EGIEEE il

ElGZEIL

PEIRED 10

R

B.
.
D.

EGCED V.

qici-3adl

Choose the correct answer from the options given below: frafaiRad fawedl O 9 98l 3R &1 9897 Do -

. A-L B-II. C-IIL D-IV
A-TL, B-III, C-IV. D-I
. A-TIL B-IV. C-1. D-IT
CA-IV, B-IIIL C-I1, D-1
O 1

1
O 2

2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

L

e L

L o

A-L B-II, C-IIL, DIV
. AdL B-IIL C-IV. D-1
. A-TIL, B-IV, C-I, D-II
. A-IV, B-III, C-II D-I

Marks: 2.00

Question No. 61 / Question ID 80035

Who among the followings enunciated four stages in the evolution of space economy?

. John Friedmann
. Karl Marx

. Ronald F Abler
. August Losch

=

L

FEfefead § 9 (9 Wy shAEr & HH-l0er 3 IR sigwursll & fagr &1 widured fear »

1. S WIEgHA

2. HIe 7IEH

3. IS TH, TR
4, 3RE I

O 1
1

O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Marks: 2.00

Question No. 62 / Question ID 80084

Marks: 2.00
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Arrange the following social-ecological movements in correct chronological order.

A, Aarey Movement, Mumbai
B. Chipko Movement

C. Narmada Bachao Andholan
D. Jungle Bachao Andholan

Choose the correct answer from the options given below:

Rl
oWy
NOUw
oSlelfe e
g v

frefaftaa amfse. aiRfufaeTa sicerT $1 98l Sramd J oafd 3% |

A I HEIeH, grag
B. g@t siigre

. THar gl g
D. STE F=13iT figia

i 14U 71T faoredl § 9 96l SO @1 994 Bl

1.A.B.C,D
2.B.D,C,A
3.B.C.D.A
4.D.C.B,A
1
1
O 2
2

O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 63 / Question ID 80086 Marks: 2.00

Given below are two statements: One is labelled as Assertion A and the other iz labelled ag Reason R:

Assertion (A) 1 With global warming, organisms that were formally restricted to warmer regions will become more common towards the
poles.

Reason (R) ! Geographic distribution of organisms could not be significantly altered by climate change.

In the light of the above statements choose the most appropriate answer from the options given below

.Both A and R are correct and R ig the correct explanation of A
. Both A and R are correct but R is not the correct explanation of A

3. A is correct but R is not correct

4. A 1s not correet but R is correct
19 gl YA 3T 70 &: U YT (Assertion A) P U T [0IR4d § A1 §¥RI IHD BRUI (Reason R) & v H:
@Y A - YHSTE 199 9. S Sfla ggd T Wei 9@ diihd 4 d 4dl 1 iR i S g S |

Ny B L & " ;. 4

PHRUIR : Scarg IRad ¥ siial & Hiifoe [davo & agayul 9ead 78l sidi g |
IR DY S el H, i 13U 70 gyl § I g9 I9gad TR &1 989 BT |

b =

 AJUIR THI U1 € GUIR, A DI J8] URAT &
ATUTR T 981 €, AT R, A B G T ST
AT EAlPIR TR T

AT afpTrTE R

b2 =

T
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O 1
1
O 2
2
O 3
3
O 4
4
Question No. 64 / Question ID 80045 Marks: 2.00
& iiafaly | defoe y-sngpfoxr :
Landforms associated with depositional activity: N Hﬂﬁ {N?ll:{ . Ilj_,{fjnl %
A Sea caves and Caldera B. T 3R T it wewr
B. Eskers and wave built platform c. &y 3 foad
C. Playa and Meander D. HEg 3 m%
D. Arches and Plunge-pool E i@ H‘lﬂq IR dig
E. Barrier Beach and Loess '
Choose the correct answer from the options given below: +Ti 1 TQ fasedl 5 4 Hel SR &1 90 BIo:
1. A and B only 1. aTA IR B
2. Aand C only 2. PaaAdRC
3.B and E only 3. %ad B IRE
4. C and E only 4. PaaCATE
O 1
]
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)
Question No. 65 / Question ID 80017 Marks: 2.00

Which one of the following is the most suitable for representation of growth of population overtime?

. Multiple bar diagram
. Line graph

. Pie diagram

. Choropleth map

e LA e

TR SHEE giE 1 2% & [/ HE=iifEd § 9 $F 91 U6 994 3ugeE © °

1. 9848 3RY

2. @IS

3. 915 3RA

4, U AFRA

O 1
]

O 2
2

(O 3(Chosen Option)
3 (Chosen Option)

O 4
4
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Question No. 66 / Question ID 80013

Marks: 2.00

The approach of Functional Organization of Space was propounded by which one of the following schoals of thonght?

P

. British School

. French School

. German School

. American School

i.hwlu»—'.

U

1
2
3
4

fofed & 9 fow Usp fOaRURI R RIM (Space) & SIATET W6 & SUNH &1 Uidure- fazdm i 2

fefew fdaruRy
BRI [oaRYRT
oA feaRyRT
. HHR®T [aRYRT

O 1

1

O 2

2

O 3 (Chosen Option)

3 (Chosen Option)

O 4

4

Question No. 67 / Question ID 80085

Which among the following is the correct chronological order of Greek scholars ?

A Eratosthenes

B
&
D

Cho

[ I S

. Posidonius
. Hecatacus
. Hipparchus

ose the correct answer from the options given below:

% D 0
o> op
» O
[N e e W v

frefated § § o 9 g g &1 96l SrRipa § 2
A RERAS
B. UISI-Ey
c. fedpiead
D. feurR=d

GIEl

ot ol

feu T fawedl O ¥ el 3Tk &1 994 Dol

>

P W w

>

o S

Op o>
noow

>

O 1
]

O 2 (Chosen Option)
2 (Chosen Option)

Marks: 2.00
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3
3
4
4
Question No. 68 / Question ID 80032 Marks: 2.00
Which one of the following represents average temperature of water at bottom in the Red sea?
1. 10°C
2:31°C
3.30°%
4, 40°C
7% & ¥ D191 TP IId FFR & 3{¢:0e & ol ol {14 a9 SUidl 6 ?
1300
2.21%¢
3:30%¢
4.40%C
O 1
1
QO 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
Question No. 69 / Question ID 80031 Marks: 2.00
The term 'Carbon Sinks' iz used for which one of the following ?
1. for burning of fossil fuels
2. for voleanic eruption
3. for forests
4, for ammonifying bacteria
Pl [ Ysglad &1 3uan] HEfafad d 9 forg ve & fon far smar e 2
1. SIGH Y Sa & fog
2. SarerE! fawpie & ferg
3.9 & [T
4. AFTEIET dacia &
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
Question No. 70 / Question ID 80028 Marks: 2.00
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Delta formed by the Ganga river is an example of

1. Bird foot Delta
2. Estuarine delta
3. Cuspate Delta
4, Arcuate Delta

O O O O

(Chosen Option)

1
1
2
2
3
3
4
4 (Chosen Option)

T =7l g1 &1 Seel

1. Goid Seel

2. SARAGHE! Seel
3. &a¥ Sl

4. AUTHR Sl

pPrepp
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P FETE 2|

Question No. 71 / Question ID 80027

Which one of the following glaciers is located in Pir Panjal range of Himalayas?

{

. Siachen glacier

. Biafo glacier

. Sonapani glacier
. Batura glacier

b =

[N 6]

[

1 (Chosen Option)
1 (Chosen Option)

A DA WOWDNDN

fofea & w91 Bo-e feaey &1 divdua 4o & s@fa g o

Marks: 2.00

Question No. 72 / Question ID 80029

Buran storm blows in which part of the world?

1. North America
2. South America
3. South Africa
4, Russia
O 1
]
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

I B [a%a & [ YrT g S@r g 2

1. JaR1 AR
2. gigmft smfe
3. GI&Ul 31pieeT
4,39

Marks: 2.00
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Question No. 73 / Question ID 80036 Marks: 2.00

In which of the following principles of regional planning each region is considered as a sub-system of the regional system whole?

. The principle of vertical unity of phenomena
. The principle of horizontal gpatial unity

. The principle of space-time continuum

. The principle of comprehensive development

TefRe e & Fefatag Bl § 1 g | vl vy & we e wumedt 90y $ U SU-guTdE! 5 SET S 2

| SR

e L

1. ge13ff B FHeater udd &1 fFag
2. &I =i ueda &1 fFag
3. WH-IH9Y 9idd &l Ha9
4, SO [G@r &1 g
O 1
:
O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 74 / Question ID 80079 Marks: 2.00

As per the Census of India 2011, arrange the following states in ascending order of sex ratio (minimum to maximum).

A, Uttar Pradesh

B. Maharashtra

C. Karnataka

D. Himachal Pradesh

Choose the correct answer from the options given below:

4B eD
2.B.C.D.A
3.C,D.B.A
4D.A.C.B

HRA B 2011 DI SHUAT & STER U & snuR R Feffad Il @f ARIS o8 (gad I Hfded) #3349 |

i fou Y faeedl O 9 U5t SR &1 904 I

et
Sowp
AwYon
W =g

~onu

_
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O 3
3

(O 4 (Chosen Option)
4 (Chosen Option)

Question No. 75 / Question ID 80034 Marks: 2.00

frefafea & 9 o I ve 998 R 9aifte yaad ofsssn gidi €2

Which one of the following surfaces has the maximum albedo?

1. Dense cloud 1.9 S8
2. Desert 2. H3 3
3. Bare rock 3. 3-dd dgH
4. Tropical forest 4. IUBHIET g
O 1
]
O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 76 / Question ID 80025 Marks: 2.00

Largest number of tribal population (2011) in India is found in

1. Nagaland
2. Madhya Pradesh
3. Gujarat
4. Tamil Nadu
URA H TS ST (2011) & qaifes S@= o o St g |

1. A0S
2. HUCY
3. ORI

4. Ay

(Chosen Option)
(Chosen Option)

O O O O

1
1
2
2
3
3
4
4

Question No. 77 / Question ID 80012 Marks: 2.00

ol &l @rel FacREGE |

Bay of Fundy is located along the coast of

1. Australia . :rﬁ"
2. Norway 2.
3. Chile 3. Tl

4, Canada 4. dAls
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O 1
]
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 78 / Question ID 80052 Marks: 2.00

Which of the following areas are associated with South Central Highland?

A. Bundelkhand upland
B. Vindhya Scarplands
C. Rohilkhand plains
D. Narmada Valley

Choose the correct answer from the options given below:

. A and B only
.Band D only
. B and C only
. Cand D only

Frefeiad § 8 i 9 Y. 4P afa 5o 3=yl g Jefida g 2

A. §5TEUs Ty
B. faed SRy
C. TeadUs & HalH

D. FHeI g1et
=i feu U fdedl § U el 3Tk & 904 Bifol:

B

1. Had A AN B
2. $ad B AR D
3. %A B AR C
4, %dd C 3IRD

O 1
]
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 79 / Question ID 80063 Marks: 2.00
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Which of the following statements are correct?

A Griffith Taylor gave a classification of cities based on age.

B. Harris used pure statistical method of standard deviation for functional classification of cities.

C. Sector model of Hoyt was based on the study of spatial patterns of house rents in American cities.
D. Chandigarh was planned by Le Corbusier and Canberra by Walter Burley Griffin.

Choose the most appropriate answer from the options given below:

A Band Conly

A CandD only

.B. C and D only
.Band D only

FefiRed & 9.3 S 93 82
A Uty TER = IRT &1 SR SETRE 9 IpR0T WEd [T |
B. 8R¥ 7 % fo9a &t Qg witegeia [ &1 wam 7R1 & @rias e 8 fed |

C. BT ®1 WUS Aigd MR A7RI 1 Wi & [l & RiHe Widsyl & {0 9 Mg ol
D. JUSHIE &l PIEIoER GRT GUT $aR] alecx axall (914 g1 Haiford féu ma |

14U e fadedl § T Wl Sugad SR BT 99 DI

LI

e

1. FadA. B3R C
2. Had A, C3IRD
3. %dd B, C AR D
4, HAAB 3IRD

(Chosen Option)
(Chosen Option)

0 O O O

AR WWDNN =2

Question No. 80 / Question ID 80082 Marks: 2.00
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Arrange the following elements of hill slope in correct sequence from top ta bottom.

A Waxing slope
B. Wanning slope
C. Debris slope
D. Free face

Choose the correct answer from the options given below:

Pl S
0w p
Fale
s 0n g
WO W

UETS! 21 & ddl &l SUR A &l IR Tl pH H T |

A. TSHA 1A
B. &g g
C. HeaE gaH
D. & SUHAT

=i fou e faeedl § U el 3Tk & 994 Siful:

oW

Calll ot Sl
O U0
»>00D
[svRlw sl o3|

»

Chosen Option)
Chosen Option)

~

O O O O

]
1
2
2
3
3
4
4

Question No. 81 / Question ID 80076 Marks: 2.00
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The Mean ( X ) of given normally distributed scores is 40. Arrange the following score intervals in ascending order on the basis of

frequency of their classes.

A. 30-50
B. X to 55

C.30t0 X
D.10to X

Choose the correct answer from the options given below:

1 D
2, I
3, &
4 D

fopel feu U g faafea urais! &1 318 (X ) = 40 © | 3TH Urdi® avll &1 aRERAl & YR | A=

RISl pH T Saftyd &1 |
A. 30-50
B. X ¥55
C.308 X
D.10T8 %

e fou U faeedl § § 981 3R &1 90 Sifo:

e
EE =

W w0 W
P> 03 20

e
wih B o llw)

O 1
1
O 2
2
(O 3(Chosen Option)
3 (Chosen Option)
O 4
4

Ad UTi® Il &l

Question No. 82 / Question ID 80037

I 1 oild & 39 7 fegn ol foear ue

Who described State as an organism?

. Humboldt :

L.
. Isaiah Bowman 2. gﬁtﬂ GIEE|
. Mackinder 3. Oy
. Ratzel 4. ¥Eod

O 1
1

O 2
2

N T R

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 83 / Question ID 80001

Marks: 2.00
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L. Wirth is known for which coneept? 5. faed foowr sraemeom 3?‘&;]'[{ I Sk % i
1. Primate Cit 1 W R
2. Rural Urbatti{ Continuum 2. JTHIVL TR O
3. Central Place 3. ey
4, Conurbation 4. TR
O 1
]
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)
Question No. 84 / Question ID 80064 oo

Which of the following facts are associated with photoperiod?

A. Longer the photoperiod the greater is the total possible insolation.

B. At poles day and night are always equal.

C. At poles the daily photoperiod reaches a maximum of 24 hours in summer and a minimum of zere hours in winter.
D. At poles the daily protoperiod reaches a maximum of 24 hours in winter and a minimum of zero hour in summer.

Choose the most appropriate answer from the options given below:

1. Aand Conly
2. Aand B only
3.B and C only
4. C and D only
I

Fefafea 5 oF T g yew sEfy (wiediias) & ay dafias o

A, TR 3afY (BIEigs) foas dd 99y &1 il $a 9va gHards 3a-1 o 3 g |

B. 4dl WA SR Iq sHM R EA ¢ |

C. Yaf R 31 e safd (wlerdiRas) Tl & sftedn 24 92 ugodl 8 AR WA & Fan Y 9 SISl § |
D. Yal B <o YbT=1 Sale (BIeiRgs) 2 ¥ siideay 24 U¢ Ugddl ¢ IR U & aad R U Sl sl © |

1= 13U T fadedl § 9§ Had S STR 1 90 BT

LFaaAANC

2. Pad A RB

3. $HaAB 3R C

4, HIACIHRD

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 85 / Question ID 80007 Marks: 2.00
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Which of the following is used to represent the geographical data on chorochromatic maps?

| R

e

Colours
Lines
Points
Pictures

IRIGIECH gHE ) Hifas sifes! o g9 & fou F=futaa & 3 foge v S S e |

O 3 (Chosen Option)

3 (Chosen Option)

O 4

4
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Question No. 86 / Question ID 80019

Pediplains and Inselbergs are features of the old stage of which one of the following cycles of erosion?

1. Marine Cycle

2
3
4

. Eolian cycle
. Glacial eyele
. Karst cycle

Teferdl (AfE) AR ST [5F HTRST 95 B ST & T & 2

1
2
3
4

gl =
. AgE T
feurF T
B IH

O 1

1

O 2 (Chosen Option)

2 (Chosen Option)

O 3

3

O 4

4

Marks: 2.00

Question No. 87 / Question ID 80022

The

=

L

density of oceanic water is generally lowest in

. Equatorial region

. Sub-tropical region
. Temperate region

. Polar region

HEMNRI Sd &1 U-d I 68 $H

1. YHERER &3
2. TUTY Siea=iy &F
3. ftdor &=

4. Ydlg &=

Marks: 2.00

Heag |
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o O O O
WWNN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 88 / Question ID 80038 Marks: 2.00

Which of the following map making technique uses the intervals in arithmetic progression?

. chorochromatic

. dot

. Isarithmic

. Proportional circle

O g1 1 g ge-ie T siavie iRy afs § vgad el & 2

B

1 (Chosen Option)
1 (Chosen Option)

AR WW NN

Question No. 89 / Question ID 80081 Marks: 2.00
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Arrange the following seas in ascending order of concentration of salinity (minimum to maximum)

A Red Sea

B. China Sea
C. Baltic Sea
D. Black Sea

Choose the correct answer from the options given below:

il Sl
QmopE
ehelell-
gl Ne
plol o

F=TTRgT PRI 1 AUl B HHEUIdl & YR R HRie! HH (Aad H ifteas) § orafeud o1 |

A, T IR
B. 9 9FR
C. gllec® IR
D. T IR

i 14U 71T faoredl § 9 96l SO @1 994 Bl

(Chosen Option)
(Chosen Option)

1
2
2
O 3
3
4
4

Question No. 90 / Question ID 80018 Marks: 2.00

. [N T -
Nokrek Biosphere Reserve is located in PRSP sigHUS Reid —ﬁ 3afeyd %I

1. Odisha
2. Assam
3. West Bengal
4, Meghalaya
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

1. 3ffg=m

2. 3RH

3. gigy 9
4. HYTGY

Question No. 91 / Question ID 80093

Marks: 2.00
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Read the given paragraph carefully and answer the following question.

The average rate of temperature decrease upward in the troposphere is about 6°C per kin, extending to the tropopause. This vertical
gradient of temperature iz commonly referred to as normal lapse rate. Certain processes in the lower troposphere create an actual increase
in temperature with an increasge in altitude, that is, a temperature inversion. Temperature inversions may be produced in five ways (1)
When the earth's surface loses more heat by radiation than it gains by any of the energy transfer processes. as on a clear night or at high
latitudes in winter. it cools and consequently lowers the temperature of the adjacent layer of air. Inversions due to radiational cooling
(radiation inversions) develop best m calm air under clear skies over flat terrain.  (2) Cold and dense air from hilltops and slopes tends to
tflow downslope to collect in valley bottoms. creating an inverted lapse rate in the free air over the valley floor. Air drainage inversions are
trequently associated with spring frosts in middle latitudes, and for this reason fruit growers prefer gentle slopes to valley bottoms for
orchard sites, (3) When two air masses with different temperature characteristics come together, the colder air, being more dense. tends to
push underneath the warmer air and replace it. The boundary zones along which two air masses meet are called fronts. and the inverted
lapse rate which results 1s a frontal inversion. Frontal inversions are not confined to the lower layers of the troposphere. They may form at
upper levels wherever cold air underruns warm air or warm air advances above cold air. (4) Advection of warm air over a cold surface
created an inversion in the lower layers of the air mass as the warm air is cooled by conduction. (5) The subsidence inversion forms in an
air mass when a large body of air subsides and spreads out above a lower layer. In the process the air heats dynamically more in the upper
portion than at its base. Inversions of this type may develop at considerable altitudes,

Which one of the following is not confined to lower parts of the troposphere?

. Radiation inversion and fog

Air drainage inversion and clouds

. Frontal inversion and subsidence inversion
. Advection inversion and frontal inversion

feQ 71U TS ) ergde ufeu vd FafiiEd v &1 S G |

AIATSE § SR 3 RS YA 9% d9aH & $F 81 & 3i9d X @y 6 ¢ ufd franites € | amaE ©f 58 SaleR yaumar
B I T 5 X Bel Tl ¢ |
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Read the given paragraph carefully and answer the following question.

The average rate of temperature decrease upward in the troposphere is about 6°C per kin, extending to the tropopause. This vertical
gradient of temperature iz commonly referred to as normal lapse rate. Certain processes in the lower troposphere create an actual increase
in temperature with an increasge in altitude, that is, a temperature inversion. Temperature inversions may be produced in five ways (1)
When the earth's surface loses more heat by radiation than it gains by any of the energy transfer processes. as on a clear night or at high
latitudes in winter. it cools and consequently lowers the temperature of the adjacent layer of air. Inversions due to radiational cooling
(radiation inversions) develop best m calm air under clear skies over flat terrain.  (2) Cold and dense air from hilltops and slopes tends to
tflow downslope to collect in valley bottoms. creating an inverted lapse rate in the free air over the valley floor. Air drainage inversions are
trequently associated with spring frosts in middle latitudes, and for this reason fruit growers prefer gentle slopes to valley bottoms for
orchard sites, (3) When two air masses with different temperature characteristics come together, the colder air, being more dense. tends to
push underneath the warmer air and replace it. The boundary zones along which two air masses meet are called fronts. and the inverted
lapse rate which results 1s a frontal inversion. Frontal inversions are not confined to the lower layers of the troposphere. They may form at
upper levels wherever cold air underruns warm air or warm air advances above cold air. (4) Advection of warm air over a cold surface
created an inversion in the lower layers of the air mass as the warm air is cooled by conduction. (5) The subsidence inversion forms in an
air mass when a large body of air subsides and spreads out above a lower layer. In the process the air heats dynamically more in the upper
portion than at its base. Inversions of this type may develop at considerable altitudes,

The preferred orchard sites in the middle latitudes are

. valley bottoms

. Ridge-side gentle slopes
. steep slopes

. fertile valley plains
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Read the given paragraph carefully and answer the following question.

The average rate of temperature decrease upward in the troposphere is about 6°C per kin, extending to the tropopause. This vertical
gradient of temperature iz commonly referred to as normal lapse rate. Certain processes in the lower troposphere create an actual increase
in temperature with an increasge in altitude, that is, a temperature inversion. Temperature inversions may be produced in five ways (1)
When the earth's surface loses more heat by radiation than it gains by any of the energy transfer processes. as on a clear night or at high
latitudes in winter. it cools and consequently lowers the temperature of the adjacent layer of air. Inversions due to radiational cooling
(radiation inversions) develop best m calm air under clear skies over flat terrain.  (2) Cold and dense air from hilltops and slopes tends to
tflow downslope to collect in valley bottoms. creating an inverted lapse rate in the free air over the valley floor. Air drainage inversions are
trequently associated with spring frosts in middle latitudes, and for this reason fruit growers prefer gentle slopes to valley bottoms for
orchard sites, (3) When two air masses with different temperature characteristics come together, the colder air, being more dense. tends to
push underneath the warmer air and replace it. The boundary zones along which two air masses meet are called fronts. and the inverted
lapse rate which results 1s a frontal inversion. Frontal inversions are not confined to the lower layers of the troposphere. They may form at
upper levels wherever cold air underruns warm air or warm air advances above cold air. (4) Advection of warm air over a cold surface
created an inversion in the lower layers of the air mass as the warm air is cooled by conduction. (5) The subsidence inversion forms in an
air mass when a large body of air subsides and spreads out above a lower layer. In the process the air heats dynamically more in the upper
portion than at its base. Inversions of this type may develop at considerable altitudes,

Which one of the following is NOT an ideal condition for radiation inversion?

1. Short nights
2. Clear skies
3. Flat terrain
4, Calm air
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Read the given paragraph carefully and answer the following question.

The average rate of temperature decrease upward in the troposphere is about 6°C per kin, extending to the tropopause. This vertical
gradient of temperature iz commonly referred to as normal lapse rate. Certain processes in the lower troposphere create an actual increase
in temperature with an increasge in altitude, that is, a temperature inversion. Temperature inversions may be produced in five ways (1)
When the earth's surface loses more heat by radiation than it gains by any of the energy transfer processes. as on a clear night or at high
latitudes in winter. it cools and consequently lowers the temperature of the adjacent layer of air. Inversions due to radiational cooling
(radiation inversions) develop best m calm air under clear skies over flat terrain.  (2) Cold and dense air from hilltops and slopes tends to
tflow downslope to collect in valley bottoms. creating an inverted lapse rate in the free air over the valley floor. Air drainage inversions are
trequently associated with spring frosts in middle latitudes, and for this reason fruit growers prefer gentle slopes to valley bottoms for
orchard sites, (3) When two air masses with different temperature characteristics come together, the colder air, being more dense. tends to
push underneath the warmer air and replace it. The boundary zones along which two air masses meet are called fronts. and the inverted
lapse rate which results 1s a frontal inversion. Frontal inversions are not confined to the lower layers of the troposphere. They may form at
upper levels wherever cold air underruns warm air or warm air advances above cold air. (4) Advection of warm air over a cold surface
created an inversion in the lower layers of the air mass as the warm air is cooled by conduction. (5) The subsidence inversion forms in an
air mass when a large body of air subsides and spreads out above a lower layer. In the process the air heats dynamically more in the upper
portion than at its base. Inversions of this type may develop at considerable altitudes,

Permanent snow caps on high mountains even in the tropies is due to

. Drainage inversion

. Radiation inversion

. Subsidence mversion
. Normal lapse rate
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Read the given paragraph carefully and answer the following question.

The average rate of temperature decrease upward in the troposphere is about 6°C per kin, extending to the tropopause. This vertical
gradient of temperature iz commonly referred to as normal lapse rate. Certain processes in the lower troposphere create an actual increase
in temperature with an increasge in altitude, that is, a temperature inversion. Temperature inversions may be produced in five ways (1)
When the earth's surface loses more heat by radiation than it gains by any of the energy transfer processes. as on a clear night or at high
latitudes in winter. it cools and consequently lowers the temperature of the adjacent layer of air. Inversions due to radiational cooling
(radiation inversions) develop best m calm air under clear skies over flat terrain.  (2) Cold and dense air from hilltops and slopes tends to
tflow downslope to collect in valley bottoms. creating an inverted lapse rate in the free air over the valley floor. Air drainage inversions are
trequently associated with spring frosts in middle latitudes, and for this reason fruit growers prefer gentle slopes to valley bottoms for
orchard sites, (3) When two air masses with different temperature characteristics come together, the colder air, being more dense. tends to
push underneath the warmer air and replace it. The boundary zones along which two air masses meet are called fronts. and the inverted
lapse rate which results 1s a frontal inversion. Frontal inversions are not confined to the lower layers of the troposphere. They may form at
upper levels wherever cold air underruns warm air or warm air advances above cold air. (4) Advection of warm air over a cold surface
created an inversion in the lower layers of the air mass as the warm air is cooled by conduction. (5) The subsidence inversion forms in an
air mass when a large body of air subsides and spreads out above a lower layer. In the process the air heats dynamically more in the upper
portion than at its base. Inversions of this type may develop at considerable altitudes,

Which one of the following represents advectional inversion ?

1. Movement of cold air over a warm surface.
2. Movement of warm air over a cold surface.
3. Movement of dense cold air from hilltops.

4, Coming together of contrasting air masses.
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In the given diagram regional consumiption pattern of energy from various sources is represented.
Answer the following question on the basis of the diagram.
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In which one of the region nuclear energy consumption is more than the renewable energy?

1. Asia Pacific

2. Middle East

3. Africa

4, North America
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In the given diagram regional consumiption pattern of energy from various sources is represented.
Answer the following question on the basis of the diagram.
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In which of the two regions, the consumption of coal iz less than hydroelectricity?

1. Europe and Africa

2. Europe and North America
3. Middle East and Asia Pacific
4. Europe and Asia Pacific
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In the given diagram regional consumiption pattern of energy from various sources is represented.
Answer the following question on the basis of the diagram.
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In which one of the following regions. Hydroelectricity is not a source of energy?

1. Africa

2. Asia Pacific

3. Middle East

4, North America
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In the given diagram regional consumiption pattern of energy from various sources is represented.
Answer the following question on the basis of the diagram.

3. Middle East
4, Asia Pacific

1. South America
2. North America
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In which region. the combined consumption of renewables and nuclear energy is lowest?
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In the given diagram regional consumiption pattern of energy from various sources is represented.
Answer the following question on the basis of the diagram.
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In which region the combined consumption of renewables and hydroelectricity is highest ?

1. Africa

2. North America
3. Asia Pacific

4. Europe
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